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BSCCH-302/CH-10
Organic Chemistry-II1
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Bachelor of Science (BSC)
3rd Year Examination, 2022 (June)

Time : 2 Hours] [Max. Marks : 40

Note : This paper is of Forty (40) marks divided into two (02)
Sections A and B. Attempt the questions contained in
these sections according to the detailed instructions given
therein.
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Note : Section 'A' contains Five (05) long answer type
questions of Ten (10) marks each. Learners are required
to answer any Two (02) questions only.

(2x10=20)
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1. Explain any two from the following :
(a) Chemical shift.
(b) Spin-spin coupling.
(¢) Coupling constant.
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2. Discuss the preparation and properties of any two from the
following :

(a) Grignard reagent.
(b) Organo zinc compound.

(c) Thiols.
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3. Discuss the systematic nomenclature of Heterocyclic
compounds with suitable example.
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4. What is protein? Discuss the different structure of proteins.
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5. Write the product of any three from the given reaction and
also gives the mechanism of reaction.
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SECTION-B/( @US-9 )

(Short Answer Type Questions)/( g I AT Y9T)

Note :

e -

1.

Section 'B' contains Eight (08) short answer type
questions of Five (05) marks each. Learners are required
to answer any Four (04) questions only.  (4x5=20)
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Answer any two from the following :
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Discuss the aromaticity of pyrrole.
Why pyridine is more basic than pyrrole ?

Discuss the general mechanism of electrophilic
substitution reaction of pyrrole.
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Explain any one from the following :

(@)
(b)

Explain the Fischer Indole synthesis with mechanism.

Explain the Skraup synthesis of Quinoline with
mechanism.
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3. Write the important structural and functional differences
between DNA and RNA.
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4. Write a note on any two from the following :
(a) Shielding and Deshielding effect.
(b) AZO dyes.
(c) Mutarotaion.
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5.  Whats are detergents? How do they differ form soap?

Characterize the structural feature necessary to make a good

detergent.
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6. Write a note on any fwo from the following :
(a) Witts theory of colour and constitution.

(b) What is the chemical difference between a saturated
and an unsaturated fat?

(c) Valence bond approach to colour.
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7. Answer any two :
(@) Hofmann Exhaustive Methytation.
(b) How will you convert glucose into fructose.

(c) Synthesis of Sulphaguanidine from Aniline.
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8.  Write the product of the reaction
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d)  CH,OH(CHOH),CHO + Ag,0 ———» 2
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| Na/Hg, H,O

= 2
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